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5| 0.05

0.02

0.01

0. 41

1
25

10

6

0.02
10. 52

0.1

0.03

Y hY oA
IFRY A

Yy INGA
3284
FTHA
CILRTHA
vYYE
BI9VYE
NOLIPAYYE

0.13

24.8

0.13

-—

49.76

174

W -

26. 64

49.76
0.26

5t

0.13

28.77

16 53.69

21| 432

0,01

1] 0.41

52

87.33

ESNo. 26
FE
bt ]

1m

2m

3m

4m

5m

Tm

&t

B [l (2)

B =)

BN =8 (2)

Ea% |S=E(s)

BEE &

B(g)

EEE | HE(e)

B

= (g)

9=
HhO-F+8
HheFHA
/75754
AO=THA
HRESTXHA
Hh2aYSHA

1.46

23| 826

0.68 |

—_

0. 001

0. 004

1.98

2.32

45

14.7

0. 005

eYhY a4
TR BA
HYINDA
h>2834
RZTHA
RIWRTHA
vyIE
b9vI=E
HOLIVAYTE

2.19

13| 3.03

i} 0.01

10.3

0.02

0.03

15. 45

2.25

%1.

1. 46

27| 12.57

0. 68

15! 3.041

1

2.3

31 2.3

69

2.4

EiSNo. 2 7

RE
B8

1m

2m

3m

4m

5m

Tm

I

%1.

B [EE(2)

BEX El(g)

BER E8()

B El:)

B =

R(g)

BAEEER ) BAN

Sl ()

9=\
Hho=—+%
Hyhexi4
®BIPIHA
A= HA
hBRES9xH4
Hh2aYSHA

1.63

0. 01

N

0. 004

471 18.63
0.01

0.01

1181 36.7
0.05

0.01

14 7.05|

18

7.35

0.03

0.02

221 17.95

233

89. 31
0.1

[ 0.044

Y hY A
TR A

By INHA
h5254
K74
CIWRTHA
VVIY=E
tI9vI=
HIOLDIVAYIE

0.08

0.84

0.04 |

7.56

10

12

24.53

0.33

0. 02

%f

53| 18.65

23.26 |

28

|
8.28! 27

25.53

280

114.3




f&R7-10 B3N RED. BRHIRRRERY
(50cm X 50cmDBIKIRER Y 2 K DIREBEE - REEE)

ESNo. 2 8
FE
i L]

Tm

2m

3m

4m

5m

Tm

Bt

B

=l (=)

BER

=ik(s)

BAR

=R(s)

B [Ek(z)

BAY ERk(s)

B

El(g)

B El(z)

98
ho—-+%8
HheoxH(
/PS84
Fo2=HA
hARESI+H4
Hh23I5S5HA

5

1.99

0.01

0.06

0.03

22

2

5. 45

0.02

0.04

21

3

1

1.32

0.03

0.03

3

3
1.39

0.01

1} 0.004

1
108

"

2

3
46. 19

0.12

0. 114

vy hyHA
7R A

Yy INHA
hS284

WZHA
CIRT A
vyVI=
tYIIE
HOLICAYIZ

0.15

371

9.29

0.08

8.31

0.22

5.12

0.03

14. 04

0. 13

4

17

46.76

0. 61

&t

50| 1

9.46

#1

4.04

4311

2.53

4

8.57

200

96. 75

HiNo. 29

=
BR

im

2m

3m

4m

5m

Tm

Bt

EAR

= (e)

B

=l(z)

B

=l(g)

BAN Ek(2)

BN ER(2)

By Ek(z)

[

El(z)

/-8
ho-+8
YheFHA
/PS84
FOTHA
hRESe3%H1
HAI3IYSHA

10

3.4

0.03

37

6. 82

3

5

4.54

0.05

0.01

12

5.24

90

20

0.08

0.01

vYhy A
IFRYHA

Y JNHA
Hh>2AH4
RTHA
RILRTHA
vYIE
PR
HOLSZAVYE

0.02

7.65

0.07

2.14

0.76

2.51

12.3

0.85

Bt

13

3.45

111

4. 54

42

7.5

1.75

110

33. 24

BANo. 30
FE
]

im

2m

3m

4m

5m

Tm

&t

1B (=R (2)

B =)

B

=8(g)

B8

=l(g)

B =)

B

El(e)

fE %

=l(g)

9-ZuE
ho—+8
HhexHA
®/7PS5HA
A2=HA
hRESYFHA
HhoAFSHA

1

0.12

35

9. 14

0.01

27

—_

4.92

0.04
0.01

29 8.07

0.06

KRN

5. 14

123

—_

3r.39

0. 11
0. 01

vYhy 4
IFRI A

Y INHA
h32134

NTHA
RILETHA
vy
93z
H2LSeAVIE

N

-_ N2

21. 1

0.03
6.53

211

3.65

0.05

18.75

N

1

0.98

(=]

53. 61

0.08
17.51

&t

0.12

41

36. 82

3911

8.67

421 26.88

33

26. 12

156

108. 8




OR7-11 BRAL FER. ERRIRRRESE
(50cmX 50cmDBEKREL o L DEREBEHERESD)

ESNo. 31
FE Tm 2m 3m 4m 5Em Tm 8
s BEN =R BEE El(e)| BAE SR ()| BIFE ER(e) BEE =R ()| BiAE =R ()| BiEE =R(e)
Vs 11 0.02 11 0.02
ho=+8 7 0.6 8 2.1 0] 214 3| 0.49 3] 0.32 21 7.3 52| 12.95
HheF 4
T/PSHA 20 0.01 21 0.01
AO=HA 11 0.01 ip 0.01
hReSexFH4 21 0.004 110.002 3| 0.01 610016
HIIYSHA
Y hy 4
7RI HA 1] 3.6 11 7.03 1 0.3 6 15.27 9| 26.25
9 JNHA
hsS2a84
K4
RILRTHA
IS 41 112 3] 0.18 7 1.3
tI9yI/= 15] 13.73 15]13.73
HhILSZAIIZ 1| 0.06 1] 0.01 2 0.07
Bt 13| 5.39 1] 2.28 14| 9.24 51 0.494 6|0 632 46 | 36.32 95| 54.36
EASNo. 32
#E 1m 2m 3m 4m 5m Tm Bt
i to] BEY Bl ()| BN [ER(:)| BEH [ER(x) BN [ER () BEAE =R G)| B4 ER()| BEE @R
S |
ho=—+8 19| 3.58 71| 14.09 110 14.5 69| 13.71 bl 2.57 3| 174 277 | 50. 19
Yhe¥H4
EI/PSHA 2| 0.01 2{ 0.03 41 0.04
FTOEHA 1] 0.004 11 0.004
hRESYFHA 1] 0.001 11 0.002 6| 0.02 81 0.023
HhIIYS5HA
eYhHYHA
9FRIBA 313236 811279 31226 8133.28 5112.37 271 103.1
Lo ns AV L
HhS52504
R7HA
CILRTHA
PYI=E 3( 0.04 3] 224 28| 0.65 3| 0.25 1| 0.08 2| 0.01 40 3.27
to9vI= 3] 0.71 31 414 6| 4.8
Hh2LS59AVT=
Bt 23| 3.621 781 48.69 149 | 27.95 83| 26.27 17 | 36.64 13| 18.26 363 | 161.4
EENo. 33
FE Tm 2m 3m 4m 5m 7m Bt
s BN ER(2)| B ER() B |E(z)| B [ BR() BEY Bl () BAM =ER(e) BEL El()
it |
ho—r%8 9| 142 7| 0.46 22| 17.36 12| 3.682 9| 1.22 3 4.64 621 28.72
HheFH4
EIPSHA
AO=HA
hRESeFHA
HII9S5H4
eV hy HA
972 HA
g NS4 1| 5.06 1| 5.06
hSab+4
KFTHA
QI RTHA
PYI= 11 0.12 31 0.28 4 0.4
tI9VY=
HhoOLSOAII=E
18 9 1.42 8| 0.58 25| 17.64 12| 3.82 10! 6.28 3| 4.64 67| 34.18




feR7-12 BRBI RER. BERIRERERY
(50cm X 50cmDEKEER Y o & DEREBEEC REER)

EHSNo. 34
FE 1m 2m 3m 4m 5m Tm Bt
i L] | BAN [ER(e)| BN Bl(z) @AY =R () BN [El(z) BN [ER(g)| B ER(s) BAN [ER()
| 1} 0.04 11 0.04
ho—+8 1] 0.86 20| 4.63 10| 3.92 11| 4.38 20| 8.16 10| 5. 41 121 21.36
Hyhe¥ 4
/7584 11 0.01 11 0.003 210.013
AOZTHA
HRESIXHA
Hh2I¥SHA
2V hY A
LR HA 2. 9.02 11177 1| 2.07 42286
BY N4 11 0.97 11 0.97
HS521734
T4
CILRT HA
vVI=E 2| 0.08 1] 0.02 2 0.1 51 0.21
L9vI=
HhoLSI A=
Bt 1] 0.86 26| 13.79 11] 3.94 14| 4.483 221 20.9 11| T7.48 85| 51.45
BaNo. 356
R E Tm 2m 3m 4m 5m Tm Bt
L] BEE [BR(2) B =l () BN El(z) B ()| BN [ER(2) Bk () EE =)
938 11 17.98 11 17.98
ho2=78 1] 0.91 B| 3.42 47| 6.45 18| 4.5%4 9 1.3 10 3.19 90 | 19.81
Hho$4
T/ PS54 2 0.01 1] 0.0t 3( 0.02
ADEHA
hReSe+H4 3] 0.0 11 0.003 21 0.01 6 0.023
HDIYSHA
PYhYHA
9FRI A 51 14.3 3 2.4 2| 4.38 10| 21.08
H5 N4
h>52 84
NTHA
CIRT B4
CIPES 6 0.34 11 1.1 ] 4.4 12| 5.85
933z 11 1.99 11 1.99
DOLSIAITE 1| 0.02 1] 0.02
11 2 2.9 7| 3.43 621 21. 11 23| 8.003 12| 1.33 18| 29.95 124 | 66.77
EiNo. 36
FE 1m 2m 3m 4m 5m m &t
L] B [ER () B R ()| BN R () FEN [ER () B [ER(e)| B4 BN () B [ER()
98
Hho=+8 20| 6.29 34| 5.98 19| 1.54 24| 8.03 19 10.23 116 | 32.07
Hyhex 4
T/ 7PS5HA 13 0.1 4| 6.05 11 0.004 18| 0. 164
FO=HA 2| 0.03 10 0.01 3( 0.04
hkeSexb4 261 0.11 11| 0.04 21 0.01 39| 0.16
Hh2IYSHA !
eV hy A
95FRYHA . 1] 4.31 4| 9.58 2112.39 71| 26.28
Y INHA
HhS2aH4
KTHA
RILRTHA
IVIE 5] 137 6| 0.96 1] 2.33
Lo9yI= 5| 15.75 51 15.75
HDOLOSIAVI= 11 0.01 2: 0.1 3| 0.02
Bt 22| 6.32 81l 1.9 44 | 12.17 311 20.44 24| 25.98 202 ; 76. 81




fR7-13 BREL RED. BREIRSRHRERY
(50cmX 50cmDEKEEY o &L SREBEHEREER)

BmNo. 37

=
b

1m

2m

3m

4m

5m

Tm

Bt

EAEY =)

BEaH = (=)

B | ER(z)

B = (e)

B =R (e)

EEX =Rk (g)

By

=il(e)

9=uE
HhI=+%
HhexA(
Eo7S584
A2=ZHA
hreSe+H4
Hho23YSHA

1

0.08

5| 1.8

0.01

4 0.13

ton

1] 0.02

0. 01

173

54

3.88

0.02

0.02

eVhB a4

97 R4

Y9 INGA
hS52 154
K74
CILRT A
VYYE
e9vI=E
HILSeXYIE

0.3

0.01

0.3

0. 01

Bt

0.38

1.85

44

o —

0.15

1.73

4.24

EANo. 38

=
[

1m

2m

3m

4m

5m

BaX El(z)

B =)

B El(z)

B =R (2)

BaL ml(g)

7m
B =R (g)

=)

oty |
HhoZ+8
YheFHA
EoPS5HA
A= HA
HARESe*H4A
A2 HA

—_

0. 002

18

3

6. 47

0.03

0.01

30| 17.03

2] 0.03

0.03

25] 14.18

3| 0.07

10| 0.06

Bl 1.2

6| 0.1

36( 0.06

13 8.6
1] 0.02

0. 01

53. 48

0.25

0.17

YVhYHA
V7RV A

Y NS4
HS2H4

RTHA
VILRTHA
vYIE
eYvI=E
AOLSCAVIE

0.13

2.08

4.63

232

Bt

—_

0. 002

27

51] 17.22

451 19.31

7| 7.3

8. 63

215

60. 85

ESNo. 39

xE
BE

1m

3m

4m

5m

Tm

&

EEE [Ek(z)

B = (g)

By =X

BEE [=RGE)

fEiE =il ()

land

=l(e)

9-u8
ho—+8
Hhe(4
B/ P384
*ToO=HA
hRESTFHA
Hho3YSHA

49| 8.31

1 0.07

-—

0. 003

0.01

281 16.74
0. 002

200 0.03

37| 18.84

0. 001

0.02

2411219

—_

0. 001

0.01

6. 39

0.01

221

w

102. 6

0.073
0.02
0. 063

C&Z2 Pkt
IFRIHA

By INGA
hS2aH4

bl
CIWRTHA
vII=E
9=
HOLSOAYTE

1| 4.52

4.52

gt

611 8,383

67

4078

51| 16.77

50 ! 18. 86

12.2

20; 10.92

274

107.3

— 100 —



f1F&7-14 BESBl RER. EXEEIRSHRERY
(50cm X 50cmDBKBREY o & ZFREBEH - RESEE)
ESNo. 40

> E 1m 2m 3m 4m 5Em Tm .13

4] Bay E=l(x) B4 ()| BEY E() B8 Elk(s) B4 El:)| Bl ER(e) 45 EM)

9=IR” 2} 8.87 1} 0.06 3] 8713
ho=+8 5| 2.28 5| 0.82 4, 0.93 1] 0.16 7| 2.64 41 0.13 26| 6.96
Yhe+Ha4
T/ PISHA 2| 0.03 1 0.01 3| 0.04
A=A

ARESY*FHA
b7IY¥S5HA

—_
—_

0. 001 11 0.01 0. 002 310013

YW hYyHA
DFIRYHA
By N4 1 21 1| 5.5 2| 325
ik
RTHA
QRILRTHA
vIIE 1 0.03 11 0.01 2| 0.04
tI9vI=E
HOLIVAYIE

&t 8] 234

[+

21.83 7] 8.61 1] 0.16 9] 82 610142 391 48.28

HNo. 41
RE Tm 2m 3m 4m 5m 7m B

k] BEAE 2R () BEE E(z) B4 ER(z) BN [Ek() BEY Eilk(z) B4Y Bl B3 Eilk(:)

98 11 0.05 1.02 1] 1.34 31 241
ho=+8 201 34 18.5 141 6.27 13| 6.8 2 1.2 28) T1.98] 13 471.87
Yhe+04
/PS84 2] 0.36 2| 0.03
Fo=HA 0.04 2| 0.02
ARESCF14 0.01 0.01 1 0.01 2] 0.01 3| 0.0
HIIHSHA

—_

0.3¢9
0. 06
0.05

F-N

(2]
-~

-—
—_
[=-]

vy hHYHA
T K51
Y JINHA
B>32854
KZHA
CILRTHA
eyy=E 1 1.7 1 .7
tIVY=E
BIOLSPAIIE

43 8] 116 40 [ 20. 59 16 6.33 16| 7.83 21 7.25 29| 9.32| 136 5248

ESNo. 4 2
XE Tm 2m 3m Bm 7m 3

4m
S B Bl (=) BAE [ER ()| BiEN ER(e)| BN X)) B4 =) BN ER(z)| BN [ER(2)

9=/ 5/ 3.34 bl 3.34
a1 11| 2.88 30| 5.66 26| 4.65 1B} 527 20 71.87 20 11.72| 122 | 38.05
Yhex A
E/PS5H4 3| 0.06 3| 0.06
Ao=HA

hRESCFH4
HhII5H4

—_

0. 002

—

0. 004 21 0.02 2| 0.02 1] 0.01 7| 0.056

YYhYHA
TR HA
Y5 I NBA
h32734
(vaskt 1 15 1 15
vILRT A
vIIE 11 0.01 5| 0.05 6| 0.06
to9vY=

h2LSTXVYE

&t 131 17.88 407 9.074 33} 412 171 529 21| T1.88 20} 11.72 144 | 56.57
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FRT-15 BRBL FER. S80I 8RERN
(50cmX 50cmDBKBEY I & DREBEHEEFESE)

EASNo. 4 3
FE 1m 2m 3m 4am 5m Tm &t
B [ER ()| BAY [ERG)| BAY [ER()| BEE [ER () BAN [ER () BN Sl ()| BN El(e)
ho=18 13} 3.36 12| 2.05 491 13.76 22| 6.53 15 3.07 11| 5.48 122 34.25
HhexHA
T/ PSHA 11 0.01 1 0.01
AUTHA 1] 0.004 11 0.004
hRESVvHFHA 21 001 5 0.05 3| 0.03 3; 0.01 11 0.01 3| 0.01 17 ‘ 0.12
NS4 :
Y hHH A ,
IFRIHA 1] 3.92 17 3.92
4 I NHA I
Hh3284 i
N7 HA
CILKTHA
vVI=E 9| 0.32 19 1.9 21| 2.76 35| 0.25 47 0.03 11 0.02 891 5.28
LI9VI=E 3| 4.56 31 4.56
NOLISPAIIE 11 0.01 1] 0.01
Bt 24| 3.69 38 7.93 767 2111 61 6.8 20| 3.1 16| 65.514| 235]|48.15
EoNo. 4 4
5B 1m 2m 3m 4m 5m Tm Bt
it ] B [El ()| BN [ER (o) BEN [El ()| B4E [El ()| BIEE [ER () AN ER ()| BEXN |El(s)
9=v8
ho=+& 3| 0.38 10| 7.56 371 14.95 121 4.16 22| 14.88 17} 6.65 101 | 48.58
Bhe®4
/7584 6| 0.06 6( 0.06
FOo=HA
hReSve+H4 1] 0.01 211 0.18 3| 0.02 17 0.001 26 0.211
h7IY5H4
YV HYHA
IFRI A i
boas AL §
Hh32a84 :
KZHA i
RILKTHA
vYI=E
t9yy= 1] 0.02 11 0.02
HhOLSZXVITE
5t 5| 0.41 0] 7.56 64 | 15.19 15| 4.18 221 14.88 18| 6.651 134 | 48.87
EANo. 45
FE 1m 2m 3m 4m 5m Tm i
i o] BEE =l ()| BEH ER )| B [ ER(2) B4 | ER() BAN ER() BN =R ()| BAE ER()
=98 1| 0.08 2| 0.12 5/ 0.15 11 0.04 g 0.39
ho—+8 1] 2.49 1] 2.49
Hhe* 4
E/7SH4 3| 0.03 3| 0.03
AOSHA
DRESCHHA 51 0.03 1] 0.01 3| 0.01 9| 0.05
HI7IY5854
eV hHHHA
IFRD A
By JINHA
h32a854
KF7HA
CILRT A
YYI=E 2] 0.02 1] 0.01 3| 0.03
9vIT= :
HOLSPAVIE 2| 0.009 2| 0.009
&t 11 0.16 21 0.02 2| 0.12 8| 0.16 412539 27 i 2.999

—102—



fi&x7-16 BR5l RER. BRIRERERY
(50cm X 50cmDEKAER Y 2 & DREBFH & REER)

ESENo. 4 6
FE Tm 2m 3m 4m 5m Tm =t
S A% (Sl () BEY Bl (o) BAL ER(z) BN |l (g)| B [BRG)| B SR(z) BEX ER(z)
[-IE
HI—HE 13| 2691 24| 1429 36/ 1595 16| 9.95| 15| 1.65 5| 2.02| 109 46.55
HheFHA
EJPSHA 9| 0.05 g| 0.05
AOIHA
HRESY 84 11 0.01 1] 8.01| 25| 0.15 11 001 28] 018
H7IYSHA
Y hHY A I
9F Ry HA
Y4 I N\HA
HSaHA
KT HA
QILRETHA
TYJE 1| 0.03 1| 0.03
t9yU= 11 012 1] 0.12
NOLSTAYTS
&t 5] 2.73| 24| 14.20] 36 15.95] 17| 0.96| 49| 1.85 7] 2.15| 148 46.93
BaNo. 47
~E 1m 2m 3m 4m 5m 7m &t
L] BEE =) B ER () BRE |ER(=) B =R (2) BAY S (o) BEY ER(2)| B ERk(z)
9=v%& 2| 8.88 12| 0.54 2] 3.1 16| 22. 12
Hho—+E 4| 431 44| 31.3| 15| 6.24 7| 627 7| 2.89) 771 56.71
HheFH4
EIPSHA 11 0.1 1| 0.01 2] 0.12
AIZHA
HRESVEHA 1] 0. 001 2| 0.01 1| 0.01 40,021
HTIYSHA
IVhY A
9F Ry 4 2| 6.89 2| 24.12 4| 3101
Y4 JNHA
HS5284
RTHA
TIRTHA
PYIE
e9YY= 1] 1.36 1| 1.36
HILSTAYTS ! ! 1] 0.01 11 0.01
Bt 8| 13.3] 44| 37.3, 32)22.69 9| 0.97 122800 105 111.4
EENo. 4 8
FE | im 2m 3m 4m 5m 7m G
=N B4 [ ER(x)| BN | ER(g)| BAY [ER(2)| B SR (g)| B El(e) B El(z) B =k
I=I8 17 0.0 3] 2.24 5| 4.79 9| 7.04
hI=F8 [13] 8.3 1 1.73 3| 3.82| 23| 5.56{ 40 17.44
HheF g4 I
E/PIHA i 6| 0.06 6| 0.06
AHTHA i 1] 2.002 11 0.002
HRESVFHA 2| 0.0 1| 0.01 3| 0.02
H7IYSHA
eV hHHHA .
9FRyHA 11 10. 41 8| 42.87 9| 53.28
Y I N\HA
HS284
RTHA
TILRTHA
SOPE 1] 0.05 1] 0.05
L9vY= 3566.86| 35| 66.86
HILSTAYTS
B 24 | 16.87 4] 397 8] 8.61| 681153 104] 144.8
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fBR7-17 ERBL RED BERIRRRERY
(60cm > 50cmDFEKMER Y = L DERE(EAE L RESHE)

EaNo. 49
e 1m 2m 3m 4m 5m Tm Bt
] BAYER()| BEE [ER(z) BAN [ER ()| BN BB ) BAE [ER ()| BN [ER(0) BAY[ER(®)
9=vR 1] 0.09 1] 0.08
NI=HE 2| 3.24 2| 0.03| 14 248] 13| 353 3| 1.53| 12| 277! 66/ 13.58
S HIE A 2| 0.03 2| 0.03
E/PSHA 110.003 1] 0.01 2| 0.013
FOSHA
HRESvEHA 1] 0.01 11 0.004 1] 0.001 11 0.01 410,025
nIIFSHA
YRS A1
IFRYHA 43402 2| 16.36 3|39 9/ 62.3
Y9 IN\H1
hS2aH1
RTHA
DIWRTH4
PYYI 17| 3.73 1] 0.54 30 0.02 21| 4.29
tIVYS 3| 2.78 3] 2.78
NILSVAVIE 1] 0.003 1] 0.003
Bt 45 41 40,574 19/ 2.604| 20 19.93 6| 4.31| 15]|34.69' 109 103.1
ESNo. 50
TE Tm 2m Im 4m i 5m Tm 8t
] BAEERG) BN [ER ) BN [ER () B [ER() 84N [ER)| B ER ()| BEE[ER()
9=vE
HhI=+8 63| 11.33| 38| 13.13| 63| 17.55 8| 179 7| 19 11 0.83] 180 46.53
YhHeEHA
EJPSHA 1] 0.002 3| 0.05 1] 0.008 5| 0.061
*OZHA
ARES?EHA 31 0.01 5| 0.02 1]0.002 8| 0.032
NTZIYSHA
PYhY A
IR H1 1 7.77 1] 187 1| 5.65 3| 15.28
o9 I N\HA
nsa84
KT HA
QIWRTHA
PYYS 1] 0.35 1 0.09 2] 0.4
t9yYs
DILSYAYTZE i
&t 79(19.46 ] 40| 15.00] 71 17.62 91799 9 7.55 1] 0.83| 209]62.35
ENo. b ]
#E im 2m 3m 4m 5m Tm gt
i EE] B [ER(e) BN [ER ()| BEN [ER ()| BEH [ER() BAE (SR () EFH ER(:) B [EK(z)
9=vR 11 0.01 ! 1] 2.28 7 2.3
ho=+8 401 91867 12| 403! 45! 10,92 6 0.58] 19| 3.49 3| 1.85! 125|30.03
Hhe 84 i i
E/PSHA 12 01 6/ 004! 19} 013 9! 0.05, | 46| 0.32
AT=HA ! i |
HRES?FHA 12 0.05| 11! 0.03] 6 0.02| 17{ 0.05 46 0.15
HI2IYSHA §
eVhyHA i : !
IFRYHA . I 1] 0.59 110160 3]10.8 10 127] 6l21e4
YNG4 | g : ; |
HS5a84 i : : |
N1 i 1 198! b1 198
PN RTHA ! ' i 1] 3.66 i 1] 3.66
TYY= 271 0.84: 16 0.38 9, 0.08 3] 0.03 11 0.01 1] 0.01] 57] 1.35
L9V ; i : { 6] 7.87 6| 7.87
HILSVAYIS i 2! 0.01 2| 0.01
M 92| 10.16| 46; 202.5, 80| 11.74| 38| 6.91| 31| 312 5| 3.13] 292] 265.6
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HR7-18 BRB RED. BRRISEREREY
(50cm X 50cmDEKRERY 2. & DEREBEH E RESE)

ESNo. 52

RE

1m

2m

3m

4m

5m

m

B

B = (e)

By =)

B ER(s)

S (Sl (e)

B

Eik(e)

B% (=(e)

BEE

=)

|
HhI7=+8
ghexH4/
T/PIHA
AO=HA
hrRESe:H1
hI7I9SHA

1] 1.64
2; 0.14

6| 4.89
26| 6.37
41 0.03

0. 004

191 3.02
52 10
2| 0.01

3| 0.009

5, 0.68
49| 515

0.09
0. 009
0. 007

—_— O

12

3

—_

2.93

0.03

0. 005

2.29

—_

0.001

31
147

18
1
10
1

10.03
26. 88

0.16
0. 008
0. 025
0. 001

Y hyHA
TR HA

g8 JN\HA
HhS2a84
RFTHA
CILRTHA
YUIE
oIz
NTLDSIAVI S

0.1

16. 69

0.19

28.26

5.89

j—y

0. 006
1.67

N

8.63

3.79

0.02

3.54

5.48

20

—_

w0

63. 12

3.79
0. 196
7.15

1)

1.89

54 | 21.97

81| 41.3

73| 1356

2|1

5. 41

15| 11.29

248

111. 4

EBhSNo. 5 3

RE

Tm

2m

3m

4m

5m

Tm

Bt

]

fEEE =k

B =8 (z)

B ER(g)

Bl =8 ()

B

= (s)

Bk =)

B

=i(g)

9=
ho—=+8
Hhe*¥ A
B/ PSHA
Ao=HA
HRESVYFHA
Valoinlsiw bl

201 6.58

2.18

—_

0. 001

13 1.59

1 601

17

271 10.64

85

Py

24,59

0.01

0. 001

TYHYIA
95K 14
Y JINHA
HS2H4 |
K714 |
PLRT A
oY=
L9vY=E
hILFTAIYS

42.89

0.03

25. 46

47| 0.78

41.6

7.26

15. 18

—y

0. 02
13.15

-~

20

50
14

125. 1

0.83
20. 41

st

20| 6.58

45.7

641 27.84

32

51.86

411 38.99

m

m

HSNo. 5 4

RE

1m

2m

3m

4m

5m

Tm

&t

EE

B [ (e)

B =B

B =k (e)

fBaEy =)

S5

El(2)

By =R(s)

BER

=N

9=3%E
hoO—+8
ghe+H4
'/ 77284
AO=HA
HARESe+HA
HOIYSHA

11 0.06

0.34

1y 2.92

200 4.8

5

117

17 299

59

12.88

IVhH A
SFRYHA i
Y5 INHA
HhSaAH4
R4

QILRTHA
I ES

BIYT=E !
DILSTAYYT|

2.72

9.12

28

13.6

28.82

o

10. 88

221 10.33

10

33.61

0. 06

0.n
48

i

1 0.06!

13 5.64

30; 20.22

35, 44.19

24.21

94. 66
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IR7-19 BB FER. EERIEEEERY
(50cm X 50ecmE KR Y [ &L DR EBEEC FESS)
HSNo. 55

FE Tm 2m 3m 4m 5m Tm st

B B ER(z) BEY =) By Eik(e) B4E Eil(z) B4Y ER() Bal Elk() B4 ER&E)

D-vE 1] 0.78 0.78
ho=+8 1| 0.5 10} 2.53 36| 11.51 16| 4.04 9| 415 12| 2.52 84| 25.25
vyhexA
/P54
FOsHA
bRESe*+H4
H23Y9S5HA

—_

—

0. 004 11 0.004

oYY aA
TR HA 5| 14.92
B INHA
Hh32H4
NZTHA
RILRTHA
vYYE 2| 0.08 6| 0.2 4] 0.19 12] 0.47
tIvI=E
NIOLISRAVIE

()]

28.32 101 43.24
1.31 1] 1.31

—_

Bt 1[ 0.5 10| 2.53 39| 11.59 2| 424 18 | 18.26 19| 32.91 109 | 71.03
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